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QUESTION 1

A customer deploying NSX-T Data Center requires role based access controls be enforced in NSX Manager with these
requirements: 

identity platform must be highly available authentication must be performed by customer\\'s existing SAML identity
provider MFA must be performed by administrator to gain access to NSX Manager 

Which identity deployments would meet the customer\\'s requirements? (Choose the best answer.) 

A. NSX Manager OAuth 2.0 registered to a 3-node Active Directory Federation Services cluster. 

B. NSX Manager OAuth 2.0 registered to a 2-node VMware Identity Manager cluster. 

C. NSX Manager OAuth 2.0 registered to a 2-node Active Directory Federation Services cluster 

D. NSX Manager OAuth 2.0 registered to a 3-node VMware Identity Manager cluster. 

Correct Answer: D 

 

 

QUESTION 2

Which three choices are non-functional requirements? (Choose three.) 

A. authorization 

B. certification 

C. availability 

D. authentication 

E. scalability 

F. cost 

Correct Answer: ABE 

 

QUESTION 3

What is a design justification for a solution with 3 NSX Manager nodes deployed in a 4 ESXi cluster Management
Cluster? (Choose the best answer.) 

A. NSX Controllers are separated from NSX Managers allowing 6 ESXi servers to host them. 

B. NSX Management Plane and Control Plane will be reduced to a single point of failure. 

C. Compute consumption guarantees NSX Manager nodes can be run on the same ESXi host. 
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D. Single point of failure on Control Plane and Management Plane will be mitigated. 

Correct Answer: B 

 

QUESTION 4

A Solutions Architect is working with a customer which wants to extend their traditional Telco IP/MPLS core network to
an NFV cloud. 

Which NSX-T Data Center feature can be recommended by the architect? (Choose the best answer.) 

A. Distributed IDS 

B. EVPN 

C. Load Balancer 

D. BGP 

Correct Answer: D 

Reference: https://docs.vmware.com/en/VMware-vCloud-NFV/3.0/vmware-vcloud-nfv-30.pdf 

 

QUESTION 5

An architect is helping an organization with the Conceptual Design of an NSX-T Data Center solution. 

This information was gathered by the architect during the Discover Task of the Engagement Lifecycle: 

There are applications which use IPv6 addressing. 

Network administrators are not familiar with NSX-T Data Center solutions. 

Hosts can only be configured with two physical NICs. 

There is an existing management cluster to deploy the NSX-T components. 

Dynamic routing should be configured between the physical and virtual network. 

There is a storage array available to deploy NSX-T components. 

Which risk was documented by the architect? (Choose the best answer.) 

A. Network administrators are not familiar with NSX-T Data Center solutions. 

B. Dynamic routing should be configured between the physical and virtual network. 

C. There are applications which use IPv6 addressing. 

D. There is a storage array available to deploy NSX-T components. 

Correct Answer: B 

3V0-42.20 PDF Dumps | 3V0-42.20 Practice Test | 3V0-42.20 Braindumps                                3 / 4

https://www.pass4itsure.com/3v0-42-20.html
https://www.pass4itsure.com/3v0-42-20.html
https://www.pass4itsure.com/3v0-42-20.html


https://www.pass4itsure.com/3v0-42-20.html
2024 Latest pass4itsure 3V0-42.20 PDF and VCE dumps Download

 

3V0-42.20 PDF Dumps 3V0-42.20 Practice Test 3V0-42.20 Braindumps

Powered by TCPDF (www.tcpdf.org)

3V0-42.20 PDF Dumps | 3V0-42.20 Practice Test | 3V0-42.20 Braindumps                                4 / 4

https://www.pass4itsure.com/3v0-42-20.html
https://www.pass4itsure.com/3v0-42-20.html
https://www.pass4itsure.com/3v0-42-20.html
http://www.tcpdf.org
https://www.pass4itsure.com/3v0-42-20.html
https://www.pass4itsure.com/3v0-42-20.html
https://www.pass4itsure.com/3v0-42-20.html

